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e

%) L&*h_u!:.u/JJc_U:UJ/lJ..‘Cé.-Jd-VLJlf /4(éb'dlf ..u!ér:_-: DsCBA ..aU?.ﬁleLJf-"/ Ay
b J.u‘JLUuU. wid o ..-J.r"Jd,f // ub"« . 4 i U:./lmUc:_..fl -41/ c'-lf L/JL'('/L'-‘V 1

10dB 20dB

D C B A ~ Questions /=iy K
1l Ay : Y T JA s d S |
__Velocity Wavelength - Frequency | Energy Waves transfer:
! ..» [/’ | “fy : . s ?i;.l"::{,ufzwl;uy{p’:ﬁlld’l"ﬂr
! "‘ 01 f::f ) 1 - = .
. g - The loudness of a sound is most closcly -
Frequency | Wavelength | Period Amplitude | palated to its: : ;
|
i % 1 ] )
| 3043 40 dB \1] fens /U 5
- Inteusu} levcl tling of leaves 1s:

f----- pny

P - -
"‘) "VL" 13 ""L"L 2 ""‘.f""‘)" Sl W1 ; “u W2 ﬁ\o

: L

I vEe L Jherd *—iw""‘—‘v‘ gt A 4
Real, Vinual, Virtwal, . Virtual, %ﬁmmcd by a camera is:
~ inverted and : uprightand  upright and | mvcrlcd f
diminished . magnified dummsh d | magnilice Q

{g ViQ . Qv Qv /;6.(/59} | re Qe dLAS b PSS u’f
‘ ' <>\

Capacitance is defined as:
L V=miy =1R

- i V= V= v = IR , “r’—*f'ffc’”{"*'.""" 6
: , K Omh’s Law is equal to: !

E \\ N ; ' v
- 700 watt | 800 watt S00 watt | 1000 wau ""r’ R Tl 7
L | ; The power consumed by clectric heater is: |
- ; — -
i . ; 'i" -3'{ lu P’Jb"d?h—/JV' f
- N, = 10N, ’ Vi=V,/10 f Ne=Np/10 |, L=10k |The turn ratio of a transformer is 10, it 8
r - o A means:
of v f . I i » )i t
Lﬁ'f"f l Pl S J* ' \f”rut : L‘l"'“'w" -V."'v' ‘r\a"l""wf" —)Y fi 0
I NAND pates | NOR pates © OR gates . NOT Lnles ’Z‘\VD gate can be formed by using twa
¢/ t/vmf"' FEHT bors for J"‘"’ 34t =4 TV
_Gathering ! Caleulating | Munipulating | Arranging | Which is not processing?
) I .3
: { i L l;‘_.a \,Jbﬂ Lb’ (s 9")r e
794 | 34293 791291 #1489 |w hcn Uranium (92 Pr otons)“v(c, band ;w'd 11
; 94 protons | 93 protons | 91 protons | 89 protons cjects a beta particle. how many protons l
F will be in the remaining nucleus? ,
! . % . » - ! =
w138 Jv 123 106 e 8.07 eI IS Y |
__ 138 days 12.3 years 10.6 hours | 8.07 days |Half-life of lead is: '
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Write short answers to any FIVE parts. iz L.xméga.df -’
- ' ’ . N , &
Define time period and frequency. -_{-{'/JJ" rlusaft (D)
s £
Define Hook's Law and write its formula, .&‘ixu-‘m.;ig’,{yggw by Gi)

gt At Ak oS e A id
Refate the speed o Tongitadinal and transvers waves lhrnuph r.nhd T and gas

“’ ’_. 3 u’.w, AQQHVI.U‘TJE.;,;’;J!VJP'J&” “V)
Draw cleetrie field fines for two opposite and equal point charges

Define electrie poteatial and write ils unit.

5 IS an ‘“J/JJ"-".J/‘“' (\v)
Define capacitanee of the capacitor and write its unil. gy JUUE s J 25 i)

Define electriv cureent and weite its formula, e ,W'J';-!g,z.l'/"d..:}.“ S A4 (i)

Deline Ohmic and non-Olimie conductors. BB PG gt e ving)

Write short answers to any FIVE parts, é...-v:./'" ﬁ-l,’lc‘;t...éf -3

What is the difference between loudness and intensity of sound? @{V <1 et "Iu.,,.m (i)

How can you reduee the level of noise pollution? h,{,'.... f{ﬂ......d:d :r'wr (1)
ﬁ\ \,\, ""&-—\,‘ x J—J"}t ¥ {* ...4a A1 (i)

What is the effect on piteh of sound by changing the fr %?\t \:hmtmh. body?

Differentiate between primary memory il su‘cuc% ory, e AU IS S 2 8 rt /'x (iv)

What de you understand by the term word pro ‘u;..)' ey e L ‘-ﬁ"‘h’:‘-‘? (v)

What is difterence between RAN and R RI)

’g;,.ﬁ.,. Lenms (i)
,i' \,v:r'.‘_é—f‘.’.' (vii)
?g'-—“fr-'-“"‘:’\-::. a0, Lviii)

S
4"‘\,

Define isotopes of an element.

What 1s meant by back groundradititions?

Write short answers AVE parts, 2 =2 Z.:fZi&L.:_U:
. v

£ oer it o < 4% 5

-:.ﬁ...u f“J,;:s.-.J'}'._, PN S I € )

W ith the help of diagram define center of curvature of spherical mirvor,
How can we see the printed words on a page? ¢

How a rainbow §s [onmed? Lot

\g.’?'c.frt' =IO S N A S TN e
How can we find the dircetion of magnetic field by using right h: and rule?
What is meant by MRI1?

eFaaglaat (il

?.._'.. .\'.,"Q-";:.'... MRI (W)
P S M’lD e ()

Pl Ll S *"'f' T rya e gy, (vii)
What is meant by Boolean Algebra? How we represent Boolean var mhle».

Detine AND operation and write its formula, AR R 4{_1*; Ser J ANDCviiiD

-u!/' 09 "’db*/ ..,./j?..«tl:......:.,l"m'.....&s r(».-..r-"
Part - 11, Attempt any TWO questions. Each question carries 09 marks.

What are benelus of smarn 1D cand?

a}:u‘%‘lﬁJJi SRRy P b 'L/u"-v uJJt () o

Dc«:uribc the ﬂmtms on which resistance of a wire depends upon.

. JJ""f//lr 2C 4 /% -e by u*"'(/.ab 0.03C /Jl}gbkfbﬂp, J}J'(LJ.G-U)’J()V —29 ﬁ-{».fl (u)

[.u:'alfuc wd L

when mlly charged by a 6 volt battery.
required for it to hold 2 coulombs of charge?

A capacitor holds 0.03 coulombs of charge
How much voltage would be

-

\.



: 7‘1});

i

FRD2 —2¥

()ML«

et (s ,»)J/ b

12:4F

<o |5 ey

Objective
Paper Code

7472

JWLul.r.-./.m..gﬁUubich{..V«f.Jlr/ QKQU’ -wiq.,-.t DasCaBA ulh’j Jeéd‘f S
Kt W»fvl.r.ufl(ﬁuu‘tfu.{ ..,BLL/ 4fUJ/|mL)¢:-uﬁ w3y c-dﬂ_/;bfubﬁ"

Ay
1

S

b 4 Cc 4+ B | A ()ncqtmns / uﬂlr' A
. (d N K- Jt""h.....-..f.«-:,:vjh }’nluz.-"!/.ﬂu,
-..-/JJ‘—L:’.'.! bt \.-E;-,‘.L,tl d:l.‘ - Wbtf*
Tuning fork Helical spring Ripple ik o , i adth i, P
g lor (Slinky) Ippic lon String  {Which device can be used 1o produce both.
- itransverse and longitudinal waves? : b
( — . ;
_l_: T 1 ! By Wid 4fl'....b.'ﬂ.fuvﬂtf)‘,f:r .f; JLI -
7 3 3 { 21 il mass of the body N Iass sprmg, system } -
. PPE—— .m doubled, its time period will be: .
b’ ¥ .3 3 - -"F i
ddL ks | aedFu e @ s S3y |
e : ‘o isan ¢ i .
! Water wave ] Radio wave | Light wave  Sound wave L ‘{@ B INEROta)
| § e H . “a\‘C\l
s i '
- ‘ ! I
bogodas D 30d8 0 2048 0 1odB o S I A
L | i ? m mlv lcw ofmmquno bnuing is:
5‘{:'1’;.':&[:,'0 J:'.'E)L(J - & s.‘”;,!‘i | aed @ \‘ﬁl""’r". L ndgode """*---J’r Juf J 1
‘ v B ' % Which quantity is not changed during
X \\»“"cl [ > » LIETeR TS ‘ S TR, H \ HE T N 5 e ¥ L
Its ength Its !rc.qmmi 4‘ lls Bud h s di 0 {reliaction ol h|‘;ln’
: ¢ 8 77,0 ' HR A N RN ..b ¥1 ’(,r
- L s S O LG (B ) Nﬁ F:)’usu’
So=2em | f=lem | Jo<Lem Jo>lem wmpmmd microscope, ubjegtne Iem | 0
i has focal length:
: v — i o t.»._—-...'
| A .'f_,. “)’..fr!
?'L“"" AR -'-nJ(l.r i-) ../?*‘ ¢ gyl Femy Loy i
-7 TA 7 St ’ TV & Sk orihls
Stationary and  Movi :;‘(‘]":::‘l‘l'“" “"l""” 'y | I'The Coulomb’s Law is valid for the 5
large size non-pot 1 les'gu ;m?%\l "'ﬁ',“r‘“(‘: | charges which are: g
charges charges ! e "_____ L ' f"’m e
e 2457 Adgstiy A Finn - e T .
e o Positive An electric current in conductors is due to - *
| Free elee s N Feh ' ) s s
}lm clecrons o yes 'Nu.m\c mn\ | Positive ions the flow oft N
{ " ] ', - T e i @ ¢ -
i ._be-.ﬁ.t‘ | c&:b;‘::dflv ‘._-L,ub' I'Jrl'i ‘._Vrlé_.{ E.;:.L-l'gvglﬁﬁ;f;#b\:,,:,,&,:gjf?!
I Mm,muc | Stationary Sm!mmr\ o The presence of a magnetic field can be 9
compass__ inegative charaelpositive Lharge( WA MAss | jotected by a: i
ATk Ak Fivg .1 wLwnbie{ S iR ge !
Negative ions| P e Bt The particles emitted trom a hm Lmhodu L
eative ic mi osmu. ions rotons dectrons | o efiee are:
' o —— - R S e —————
L.‘j?_‘l«/ ‘ QIJ : :j:";.’_‘" [ Ln;j;. l u&.t—ﬁti"bbr' W'Vdu )‘f') !)b’r I I
g = n computer terminology, information
E &l TN afa ITLL v E A2 *
Largedata | Anydata  Proce ssed datay Raw data | oons
[ " et . *-{r'*:v" ;‘,'—f'-}.édi—:v?d},u"uﬁw‘t" '..fl..-'
e los r’_.fl Febnfn bt NERT; : Vit okl of R
Decreases by | Decreases by Staysthe | Increases by ! iy .
one two siime one - What happens to the atomie numbu of' an'

clement which emits one alpha particle? |

e it Bt
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F g L2 (Part-1 2 Jfeee)

Write short answers to any FIVE parts. -éuuif" L:lil&ta&f
g{!d /lgg{,’/gu'unl»fﬁ'/;}f’(fuayz ()

What do the dark and bright [ringes on the sereen of ripple tank represent?

Define the clastic restoring force. PSS G

What is meant by damped oscillation? 5'.-,:..:1/3{.:-..;-}2}6:'%5 (i)
Write two uses of capacitor. -2 S L }-:-{ (iv)

. . » o3 .
What is meant by the capacitance of a capacitor? Ses e s? d"{ S /’ < (V)
How electric field is helpful for some animals? q.u" Nt ud{éu«-f /'af--é.uu oy £ (vi)

How many watt hours are there in 1000 Joules? Yrd seai 2y —-s)':di- 1000 (vii)
-éﬂumub’uml{ubu:’ﬂ’d:’(viii)

State the Joule's Law and write its formula.

Write short answers to any FIVE parts,

% ‘J-...-?Lu ?u‘ul'/ I .»:V-..—Ll.g/ lr'JQOdU...eU"uV (i)
Will two separate 50dB sound together constitute a 100dB sound? Ex
What is difference between noise and music? T SAL S ,;u} (i)
Define intensity of sound. <\ -.,J/"va...:' ~ 1 (i)
What is difference between primary and secondary mm@% .,.g)}yf UL A i /I (iv)

.._n/ya_.w."(ai (v)
Wlotmation system. & rt&uﬂ’ﬁf‘"‘y’%ﬁmlb_ﬁ{qf (vi)

What is meant by data management?

Write names of components of computer bas

Write two methods of safety from hazasds OP diations. ..‘,’-z' ,;.?:.’..)’u...sv ol 5 e P8k (il
P a i
Define nuclear fission reaction. -..i’j’d : iﬂd u’j/z*r'(viii)

Write short answers to ; VE parts. ...’.-’.ol..u.v? o L,r'ﬂét...,df

P
light. »‘u Wl o™ W55 (D)

_h:f'tt‘ o ‘LJ QR T} ....h_. Oem ..._l.r....«,. 10em 8 J:‘ f’ g nrf,f LG
An object is placed 6em in front ol a coneave lmrmr that has focal Icngth 10em. Dc.tcnnnu: the location
of the imuge.

Show principal axis by diagram and detine it.

Write two laws of reflecti

E s AT e 1 AP N TR
-&‘u«i’,/‘dv’mlg”,‘i‘:W.fhu"u;"{lgﬁ 4 i)

Draw symbolic diagram of NAND gate and write its truth table. L J" Frratei ) va e (iv)
Write the role of electron gun in oscilloscope. - S5 Qs,ﬁg!vﬂ.ﬁ.ﬁ; s ()
Write any two uses of logic gates. - e S L J:'-f...,é o)
What is electromagnetic induction? ".;.J:ﬁ.f\f' sy 200 (i)

Write two factors affecting the induced e.n.f,

-U7/'} 09 [AE l“" -&— ;w“!’&uglfuh—-ol (’Ju—.‘"’
Part - II, Attempt any TWO questions. Each question carries 09 marks.

AT l.'a’...,"fftlu):.‘yvgfn)lj/nw 1 e i o E 0 uad (s

What is gold leaf electroscope? Explain its worl\mg and principle w ith dmg,rnm

L hEnd ni S zt:"f..#l(ldu- LAy

.. -..-UJ’/”L;!]!é R

JL"""J"J/ 220V&120V -.-‘.gg" ~&:.-P;ﬁ4;f’u 9SQ ¥ 4 G'.-’Kbv l)OW /\--*C.-}":'.g? ,' (v-f-)

C{wﬁ'wun"}b’ ?é.bbec...;_._.F

An incandescent light bulb with an opexaung resistance of 95 is labelled 150W. Is this
bulb designed for use in a 120V circuit or a 220V circuit?



L
S

22— F‘BD’LPLV

tedr S S E e Pk () .6
Deline the londness of sound. Also describe the tactors upon which it depends.
i 3 # ‘ . f
E A e e L e g S ek U Fu b gl ()
L
Ashes [rom a campfire deep in a cave show carbon-14 activity of only onc-cighth the
activity of {resh wood. How long ago was that campfire made?

= & 4 i . > ¥ s »
i eotd f LT L puz I Lo i () T
Explain the working of a transformer in connection with mutual induction.
. < "{{ oy ”,&': > - < . > u ‘it }, ‘ -
ST TSP f ol PP P ,‘fﬂ;{r 'J\{:ld@,lf_(' & ey, 200m i L (&)
An objeet and its image in a concave mirror ave of the same height, yet inverted, when
the object is 20em from the mirror, What is focal length of the mirror?

1016-X124-70000
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Ll WIS GL e SN sl ey Q8% -U1ELEsD 4 C B eAcZBle L Jig | 2
Bl _ 1202 uﬁ».af(f LISk l-LfJuulmLJ&-{ -y A
D C B A Questions / = Uiy &4
8Q L4y, U'?’;JJ 7)/4;‘3&»&?4/?:__2_)’/ 2 1
120 80 40 20 Kt (J’JJJU':_L.JJ’G&)’LH& 3
The combined resistance of two identical resistors
connected in series is 8Q . Their combined
. resistance in a parallel arrangement will be:
RSB | o o (1 NN AT e lIGTE N 2| 2
Wdf A e "J:(J"*' sl ul/S Unhrl;cgolcs Which statement is true about the magnetic poles?
A single Magnetic poles do| | 1o poles attract P
magnetic pole | not affect each
does not exist other
B=1.sA=1| B=0sA=0 | B=14A=0 | B=0 s A=1 \EMIUV;TJJ!:L”UU!” 5
A=1&B=1 | A=0&B=0 A=0&B=1 | A=1&B=90 Theo jtwamputNOREtelslwhen
5 4 3 ) W d)’lu‘:l (v,."ﬁ J é}’»g 4
A {\“ qmgsggly possible states:
T *- (’/\ b sk
Control unit CPU Memory MW &Ff?evhram of any computer systcm is:
B Z A ; X oo |
*x x 2x b B)zk , c.t'bU}lbc:,../Uiff /1:5 ki 6
(f@\ ‘ Generally an atom is represented by the symbol:
u"U: 3@53 O > g ' wafja/ga 73
Velocity Wavelength | ¢ ency Energy Waves transfer: _
L PR\ ST D < JedpSidd] s
Water wave Radio @ Light wave Sound wave | Which is an example of a longitudinal wave?
5dB 100dB 10dB 20dB a9
1 bel is equal to:
i FEAL Ut | ealu st b onstomd S| 10
Its wavelength Its frequency Its speed Its direction | Which is not changed during refraction of light?
o7 o A —1 ey () dAE e 11
Watt Volt Ampere Coulomb | §] unit of electric charge is:
/JSJ éﬁé_bLjd/»c_-j-f/Czb IOCJ 12
it - sy 0.5V ﬁ’ru*/,‘_}"?uwé..,w»umuf —akytd
Five joules of work is needed to shift 10C of
charge from one place to another. The potential
dlfference between the places is:

1013-X123-80000
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(Part-1  Jjladaa)

10 Write short answers to any FIVE parts. -gﬁ‘#&'ﬁ/{; L"Z’ékédf
Writg two characteristics of simple harmonic motion, -.égia Qﬂ“’»d/ quff/hj{ 6]

Define damped oscillations. -E A i)
"gl:_J)k_fu: sl ihaBl (i)
What is the relation between focal length and radius of curvature? te. JL"" L_fu.‘.'gﬂ-sz-’/dl‘ﬁiwli@«f 9 (iv)
What is meant by magnifying power? Write its formula. & [T 19¢ (_“4_,1/-[[4,,&._5’ UJ“O )
Draw the symbol of NOR-gate and also write its truth table. LIRSS (vi)
What is the function of control grid in cathode ray oscilloscope? ?‘arﬂ[ b’j)v;}"( J%AC:?’L’_JL}! (vii)
What is meant by binary variables? etV MG A i)

What is the difference between regular and irregular reflection?

10 Write short answers to any FIVE parts. -é:.:y&fi!ﬁédz lg«kc'.df
Define intensity of sound. Write its unit. &K uwg»:..y/U G""iﬁ £ )
Write two uses of capacitors. &y ,/:'/ (i)
What is the difference in RAM and ROM memory? ‘.‘q_. J)Lf(ﬂd/yfpmlﬁ (iii)
What is photo phone? Setrlfuidd (v
Is the charge on capacitor connected in series equal? Explain. -é =2 losfe tn&,/gd:b'{ k};é‘f_iﬁa% }Z 4 \;( )
What are variable capacitors? trdnl }'jf K i)
What is meant by word processing? o ;yl[a..uﬁr:,;)‘u (vii)
What is computer? Write its two works. <& ¢ . Jf&u' i ?‘al[/'x{ (viii)
10 Write short answers to any FIVE parts. @- .;-,y,z,"?é,lzlﬂgc.Jf
e é; IRl (e e aas Sk G
Draw the variation of direct current and alternating current with time ) s
e blagloduriz -E WMol A )

State Ohm's_Law. Also write its mathematical form, @ kf

What is the cause of electric current in electrolytes? ‘.'4"..{‘.«}:(, )J &fhf}g‘gﬂh‘fﬂ:fbgi (iii)
What is meant by an ideal transformer? Write its power 1

o & A e AP A 3T @iv)

Determine the direction of force when conductor is pl @magnetic field. ‘?q.:e'__/d:rd.‘.:’ (A }Gf Lnézufil_j-.@:’ )

What are cosmic radiations and their nature? a;&/ ?‘ngfJuu,url['/'?rd;JJ—b’ (vi)
N 4 Il 3P TL, (i)

P ;n % ZS;U >_ 4 ____+33n . éﬁu’{ldj A (witi)

-@@LJW/; .."é{f:‘:«gb?éa Ulysse éf a9 A

Part - II, Attempt any TWO questions. Each question carries 09 marks.

02,02 -Z—QU:{QL@JE;»&‘_ Vé/?.’gfgﬁr)wé& ugd/éfdi:é'.c,ﬂu’gfcudir'ﬁljgl (<N

Explain with the help of ray diagram the image formation, when object is placed at two different
positions infront of a convex lens,

et 4 VR BELE g3 g6l gt Bt 395, OLdLl domut et /70 (L)
L6000y ) (St digd 0L )

e point the water moves up and down at a rate
of the water waves? (ii) What is the period of

XL hJ Ml u’@.@?ﬂf 334 ()
What are four differences bet

ween hard disk and magnetic disks? .
Lt tug 20 4 p4 ~5-Fleri Bl 0.03C LU bW bty b hne 508 6V anf, G ()
05

‘.‘Lu‘mb’ué’» Z_Q_‘. L
A capacitor holds 0.03 Coulombs of char

ge when fully charged by a 6 volt battery. How much
voltage would be required for it to hold 2 Coulombs of charge?

Write two uses of radioisotopes.

Complete nuclear reactions:

Water waves in a shallow dish are 6.0cm long. At on
of 4.8 oscillations per second. (i) What is the speed
the water waves?

01,01,01,01

04 Sl b enfin N l-,.ﬂfy5_~,>u,J.t§u'3’u»£;gcér e bl Uy (L)
What is solenoid? Explain with diagram the magnetic field of a solenoid. How its direction is found?
P TUGAL i 250v L 3L 4KW s kK 100W ] b
05 {

Il Je Gy Uisét = AU 1y (i)
A 100W lamp and a 4K'W water heater are connected to a 250V supply. Calculate (i) The current

which flows in each appliance (ii) The resistance of each appliance when in use.

1013-X123-80000
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D C B A Questions / = Ul V74
. . : g 210
o 138 s 145 o 130 s 140 eSS o PO 1
210
138 days 145 days 130 days 140 days The halfhfe of polonium 84 Po is:
‘ '- . -
JULE S AL ks FU A ‘e LS| 2
External mail Extra mail Electronic mail | Emergency mail | What does the term e-mail stand for? .
B=0LA=1| B=1LA=0 | B=0{A=0 | B=1sA=1 :d’mldﬂx? X=A-B fi| 3
? o

A=lorB=0| A=0orB=1 | A=0orB=0| A=1&B=1 |If X=A-B,thenXis 1, when:
u:f‘ﬁfd/j:ﬁf JJT[J/!{J fﬁ?,,cﬁu! q.bbkfdﬁ/q_ul

uj‘a'.'..ﬂfg |f ug‘l.nzg 1% etlox Increasesthe |y step up tra Q/@

. ” b
S WL’_’,I%" 4

Has less turns in| Has more turns | Increases the input current

secondary coil | in primary coil | input voltage A
. o /2 iy (J1¥i
SRR Wit e s rli2v| 5
S0W 30w 5w 1A% /< Vhatis power ratlng of a lamp Yn[,z,f:wf 2.5A
M&“ >onnected to a 12V source when it carries 2.5A? pe—
leV IN ic @}\) e bl 1.6x107°7 | 6
o 1.6x10°197 isequal to:
" W N fa’g | oS e bbbt K| T
All these Electroscope Electy\w Current electricity | The study of charges at rest is called: -

.:‘-_ﬂlﬂ/(&f 8

44° 0° ~\ e 48.8° N _
N The critical angle of a glass is:
10dB 100dB 4 10-'dB _ e brag f gl 9
Zero One bel is equal to: :
B 2 ie o/ Yo t’ﬂ{JGLj'}uLJKU’“:)‘f ofxiL| 10
Amplitude Wavelength Period Frequency | The loudness of a sound is most closely related to its:
4 3 2 1 e el e aft i) 11
ke T fm T £ T ke T If the time period is given, then frequency is
' calculated as:
. *, 744 o, 7 12
TemfX | T=2n/® | T= 2nJZ T= 2n\[§_: L puik st
m k g £ | The formula for time period of a simple pendulum is:

1014-X123-68000
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(Part-1  Jpama) FOPD-2-232

Write short answers to any FIVE parts. -a’..-,w/f’z.'z'ég;éf
What are damped oscillations? Draw diagram, 2l Seae AMeis 6
Define vibration. A A i)
Write any two features of simple harmonic motion. aﬂ’ayy".u(j JIJJKJKJQJ{ (iii)
Write two laws of refraction of light. : -é u:f 19 J"‘g de/ (ﬁ/ (iv)
Define NAND gate and write its truth table. e FAIN g s el ()
- ASHS Gresudp Susiery 2Fa.v£;2¢5v’ﬁ.gﬁ (vi)
If an object is lying at 2F of a convex lens, then what will be the location of image formed? Draw diagram.
‘ Ut 1 1332 P AL 1 By o900 Sk p S pn S FESC Y (i)
Find the value of critical angle for water (refracted angle = 90°).The refractive index of water is 1.33 and that of air is 1.
Write any two uses of light pipe in our daily life. ‘-égulﬁ’l»&%&&mﬂ&h/wd;h (viii)
10 Write short answers to any FIVE parts. -ga[.lifsﬁ"zlé&c.(L(
‘What is meant by silent whistle? Write its range. ‘-‘4"_9‘{»&?‘}5 G‘Lfb;l ?‘a)l/l[:_d?jfi} @)
On what factors, does the loudness of sound depend? Write any two. e S e t'ﬂ;d' Ifdglflﬁﬁ'.%lld,ﬁv (ii)
Draw the diagram of variable capacitor. _’@hrlﬁl 5J k,v/ S (i)
P UASFTenl o —e0.5m Meblin tinE 7l U ¢ 1000C 1 S00pCHIS 2l Hegplats V)
Two bodies are oppositely charged with 500uC and 100uC charge. Find the force between charges if the
distance between them in air is 0.5m e\/
Draw the electric field lines for two positive point charges. S J)..d ‘é&?}(g&'{:’.’.){,‘u )
What is the difference between primary and secondary memories? S e ARG SrkEnsls /’lé (vi)
Which is more reliable for data storage, floppy disk or hard disk? /C7< ;\.‘%}5/‘(5‘4 ﬂ’-a)&}_ﬂiélﬁéﬁ LSS (vii)
‘What is the difference between RAM and ROM memories? U "c_u"/gu:d”ﬁ' r,w:lﬂ/ (viii)
19 Write short answers to any FIVE parts. @%S sl @@Lv’!/#ﬁple égc,él
Define current and write its Si unit. o @y stigngt sl @
Draw labelled diagram of three resistors in seria q;ngion. -& U oﬁd-'""&fbd éaiﬁc—.‘ﬂ_ ):_f 2 (i)
' e REBGNe Sory ey AL S 10V Hpull 4k s 6k S (i)
I two resistors of 6kQ and 4k(Q) are co -& ted in series across a 10V battery, then find equivalent resistance of the
series combination. ~
What is the basic difference betwetn-electricity and magnetism? ?%gd)d;gu:r;z‘&uu“*)?l (iv)
State Fleming's left band rule. -“é s 7114 II,B’J:'J-‘G )
Define fission reaction. _ -ﬂ’q’j /‘Uu:'g ld/gf; (vi)
Write the two characteristics of Beta particles. &, ..:-;_Lgr"ng(/@/&t‘f (vii)
Cana transformer operate on direct current? S CC/? b’{&/:‘zg Ayt (viid)
A 09 Ly g e pl e tme 3 @iy ddan
Part - II, Attempt any TWO questions. Each question carries 09 marks.
01,02 g el U/ L':f.?c‘:..;f/l[c.ig:;ji:?g’ ()
What is meant by longitudinal waves? Explain it with the help of diagram.
(Y “Jng&?gfi&/ ..‘L.Cf"é U’?.A/.LJ&{:'J()'(;{‘{:!J 6 lﬁﬁé.ﬁ:..‘{{ 20cm cj/f:(r u_ﬁ (<)
Anobject and its image in a concave mirror are of the same height, yet inverted, when the object is
20cn from the mirror. What is the focal length of the mirror?
04 ' _{;/UL‘:/_‘HJJQL;{J%’LML;UJ@”&'[ ()
Wih at least two examples, give the importance o/f acoustics in detail.
by e e &2 bt Ll L 1000C ST e il 10f S ity e S ()
0s eyt ¥
Th electric potential at a point in an electric field is]¢* V. If a charge of 100uC is brought from
ininity to this point, what would be the amount of work done on i.E? )
01 O =) -gff@&:c—r‘fgl L‘/‘// ?c"_d/(r Kd_; (-'tz‘..lg':‘-.LfJ ()
Wat is relay? How does it work? Explain with circuit diagram.
0s

Z - . jast _ P b, i
Epkt pides i S g T e 100V EOAL e 10MQ UL (L)
Te resistance of a conductor wire is 10MCQ. If a potential difference of 100 volts is applied
a70ss its ends, then find the value of current passing through it in mA.
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PAY 1248 wris Shppp. Gy TATS -

c,uﬂ/ L:( /lulwdWéul!_/»c:,ufu:Jl:éfg_u’_VCJlr/{Qb’dii -u?é_"g_;D s C B cAqui.fxyﬁdlr/ /{Ul,f |
-&J’JLBVVUJEL;UJ}‘JL/JUK Lé.f#():/bu&):..f -y

D C . B 1 A : ‘Questlons / el A
;,_f,‘ﬁ‘-ﬂ ' rths )g;Jszkg_)_ TS S et/ i FouiF| 1
Mechanical ) Longitudinal , Mobile phone sends and receives the message in the
waves Radio waves waves Sound waves | form of:

The symbol to denote diode is:

XA XZ

A+Z Z+N zX aX? ‘-%—W%“cc/wﬂ(:!{)ru 3

Generally an atom is repreSented by the symbol;

T :,J”’?JJ,VJJ/ 4
.. tre ecucuntls S -
R1 20 '

10 60 360 110 /@%

@ N 4=6Q Y
g O
\ I :
L
V= 6V
. = :(u’ /lJuw'u’c_;// lf/’ -/ l;uw/ul.f Cl s
GAGT G gy | Gkl AT
Sound energy Heatenergy | Potential energy | Kinetic energy |The shock absorbers damp the vibrations and
' convert their energy into of the oil.
i E A Gdien| 6
gHe gHe 21H ?H ] erfoliow1ng nuclear reaction: -
j_'gs%i ‘1 W’ +§3H . o0+ Energy
T - JT T . . : :E’m&_ /3(’ h‘z__l.m(;(,,u Wf)'ut f’/ JLJ/,’)T 7
2 3 2 VIT If the mass of spring mass system is doubled, then
its time period becomes:
Wm W2 Wm™! Wm=2 ic,'—df'g,’!{d"’i JJ":T 8
The unit of intensity of sound is:
» . sinf e IGK S
=< sini =sinf n= sini n=-——s ' cudGeE| 9
v sinft sin i Snell's Law is:

e cd kLol | 10

9x109Nm2C2| 9x10°Nm2C? | 9x10°Nm2C? | 9x10°Nm~2C? , ‘
) The value of k in Coulomb's Law is:

X=A+B X=AB | X=A-B X=A+B A :“-“”‘J‘\f"’fJ"’-—Ct H
' Boolean expression of NOR gate is:
Ny=10N, | vy =2 I =101 . T 10 IS AL N1 12
- P s s 7 .
10 1 The turn ratio of a transformer is 10. It means:
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48 /J( & 01:45 =3y
( Part - L d}‘ diaa ) p, é
Werite short answers to any FIVE parts. = L & QLL?./‘.?[J'Z‘ be s
FBD-qraa s

s,L/Qquﬁfs{ugu}wﬁ,r Q)
- Lir AL E I i

State Ohm's Law and write its mathematical equation.

Differentiate between conductors and insulators. Give an example of ez;ch.

Write the equation of Gamma decay for cobalt ‘3‘7’00 5 - -‘:«"VJJ! L L ggCO (iii)

Define electromagnetic induction. -g{%ﬂﬂl%}gl (iv)
?(:._‘/}lg’/w}duiz ,i‘ﬂ;L)S’mJ;Bin?.@? W)

k4 v v’y

How the force acting on the armature be affected by increasing the strength of the magnetic field? ‘

Write two properties of alpha and beta particles. ) & :a_L'J:";)J)?/&L?g/ﬂU&I (vi)
Complete the given reaction: on+ 23§U —»'¥Ba+___+ _éf-: J{(ut{ fd/éc:_.) (vii)
What is the difference between a generator and electric motor? "aJ/quf - ,'2;:0‘7‘(34 (viii)
Write short answers to any FIVE parts. <& c.:[,lz/‘?é,lzié&c,af
How the depth of sea can be measured by ultrasound? "u_?é/p"" (jlﬁr wad_??c_u&?iw}’l (i)
Sound is a form of wave. Give its reason. -gad/aﬂ -q_f.,ﬁd}; 230 (i)
Define capacitance and write its unit. -EJ_‘/'.;'VJ l/)l_éb.é' /.'.JJ'-T' o’?f (iii)

31 0.5m ;@i_'m1340ms"‘il/.ég_f(}"u"if}&g,:csv (iv)

Calculate the frequency of sound waves of speed 340ms~! and wave length

~E P St SO S R S 3 b )
Does each capacitor carry equal charge in series combination? Explain'b iefly.
% G fel S imgE i fSectt (vi)

Define internet and write its two services. 0%
Write two advantages of electronic mail. ~Z‘.’;";’;:£quﬁ}‘gi (vii)
Is electric intensity a vector quantity? What will be ig\d\@e\\;ﬁon? ?d’ng:f\ﬂﬂ ?:‘./w"/‘f,.g ()"'&‘iJ}gfg (viii)
- P 4 ’(

Write short answers to any FIVE par @ -Jw&lﬁf"l’.rlzléscé
&Wave with diagram. S SO Pt G
8 =8/ 6 BEpbyiet pttdh i FLdUrd i

lunt of 1m long on moon if gm =ge/6.

h. - A A0 i

Distinguish between longitudinal and tragsve

Find the time period of simple
Define principle axis and g

Define reflection of lig raw its diagram, Elbe il Vin £ 5PN8E
What is difference between real and virtual image? ?.;__J)_g@wééu;;m,uﬁ, )
Draw a symbolic diagram for OR gate and write its truth table. -éf;’ﬂﬁﬂul’ehﬂfy;‘f U&J.;z_( OR (vi)
Define analogue quantities and give an example. -é::J l"/'wl_.é __ayUuquuw (vii)

What is meant by Boolean Algebra? ?c‘;:l/l‘g’/:.;bj,._fﬁj (viii)

..uj‘/ 09 LJisy -é{'fagiﬁéoﬂiruc;(;/ «pdgd dias
Part - II, Attempt any TWO questions. Each question carries 09 marks.

_ & e ISR, St e 2B 20 (i)
What is meant by electromagnet? Explain the function of relay with diagram.
dnFed g Vi 2e e g 1LSAe b /)i e WOVUASBPRGAL G (L)
By applying potential difference of 10V across a conductor, a current of 1.5A passes through it.
How much energy would be obtained from the current in 2 minutes?

-éé_’.,/b[.L/ﬂ(f‘/:’@’;fégf‘{&}&ul ?.g.:L/gc,L,CJ!TJ/; ()
What is meant by noise pollution? Write its effects and methods to minimize it.
LAl 20 ¢ 4F g bt Bty 0.03C (U s P hre s 6V ol il (L)
?ﬁu,m(ué}” 2_/4;‘_ L

A capacitor holds 0.03C charge when fully charged by a 6V battery. How much voltage would be
required for it to hold 2 Coulombs of charge?

_sf:’,/c:,).ad/d/;'gf:v&)Jﬁ/’ldlﬁjléﬁéip )
Explain with the help of activity that waves are carriers of energy.

-gfpb*yw,w‘%;gb(él -c“_"{{.l#b'ﬁucm L§_8Cmi@j)’d/u)')ggf§ﬂ/ ~.<"_4cmdL;":’L}/()'»g ()
An object 4cm high is placed at a distance of 12cm from a convex lens of focal length 8cm.

Calculate the position and size of the image.
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Objective Papert

/ Lf I3 Wéub”u/ﬂc__tﬂUJ/':ZQ_M‘-V&JV/{Q((}L? -UTA:LJD 241 C B :Auyli.f/bédfr/
-(xzﬁ%'.?uﬁgﬁu//d/c/“fur LL./JUU!:uLJc.J _q(:J/

A
1

D C B A Questions ¥ =ty A
\4_()? c.-jc.d) d)c:_&:' 39 I8 S‘Jm:&)oﬁgﬂ&;J}gluL{z Ju;uf'{f;!u T/‘EJJ/*‘.G’ 1
From negative | From positive How will be the electric hn of force where electric field
Closer to positive to negative Apart is strong?
Fobtir | Fisbsif ; - uw,u:wﬂab/m.w,,/ u’lbzﬁu/bL.Jf 2
e VU ~O& c"__d@nrr c“_dﬁ_’a‘/.
Cannot be Remains D [ According Srhb's Law, °(4_//th;va»£
determined unchanged e ncreases | what ha%g e attraction of two opp051tely charged
objects as their distance of separation increases?
» 7 5 . N
g 220 Sy /(U’} s 4 c_rlbffdil(/f/ 3
Vertex Focal length Focus Principal a/xké d}ne pole of sphcncal mirror is also called:
O ) 4 { el
0° 90° 45° oo\g ‘Lﬁ’ﬂ/{d’ 4
P oy glass is
{5".&’ {;%” 2y Q) $ s ) - L/W/ULJKCG/J"‘ 5
Amplitude | Wave length Period QIR TThe pitch of sound mostly depends upon:
) 3 < 2 v
e el ks | kil cJednkidy 6
Water waves | Light waves | Radio waves | Sound waves |The example of longitudinal waves is: ‘
(-7 4 o (L :?_ufwt;ﬁg,gj 7
Sodium Thorium Polonium Uranium | Which is not a radio active element?
AT i duz S n T J_,;w AET i T D BRI o .vu._;yJ.,yf AL 8
None of these 8 One quarter Onehalf | The hz_llf lifeof a f;ertam lS(?tope is one day. “ nuff
. What is the quantity of the isotope after two days?
i & A ; X » 5,..
X=A+B | X=AB X=A-B | X=A+B | . ~€--/U“f~}’fif~<c¢ 9.,
Boolean expression of NAND gate is:
IR 2 Jé Sy < t'lﬁgv(c"_ t/ﬂ’))&d:i)ﬁ../,)ft}fjbﬁfl{‘ 10
MS Office Browser Gmail Email The application used to view web pages is called:
g 5): Lk sk c__‘,&d—ﬂdﬁ—ﬂ,’gdw'//bﬂ/‘ 11
Energy Voltage Charge Power Transformer is used to change the value of:
Q:ju Cx» B Q&'JBJ{LUJ uiq/ljff.ic‘)‘v u_?q/li’&pvp :'-J:.J'(:'d'-/"(}}k}hf;g] 12
Both B and C | Have d{ffercnt ~ Are the Are the same Electric potential and emf:
units different terms terms
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10  Write short answers to any FIVE parts. -’eg:a&’ﬁjﬁé:flz lékc..éf
State Faraday's Law of electromagnetic induction. -éuguim}“’ cﬂ?.@g}g@g;lfj ®
Differentiate between motor and generator. _ _.gf,i: OASLGEE 2ullr (i)
Write the equation of Gamma decay for cobalt ggCO : -.‘chAJL/JJf L L3 We ggCO (iif)
Write the causes of background radiation. -é @Qﬁ:Ju)ildé;,‘cil/ug (iv)
Define fusion reaction and write its equation. : -é&"JPJJ lui.é _{J/"L(u:g Sagid  (v)
Differentiate between cell and battery. -{;’: (‘ﬁ;o)uy”&dkmuf (vi)
Define electric power and write its unit. -c’J&,jb’J w_a_’:' < /;,‘ JJEJ/"?' (vii)

. eux -q_ﬂgo:zc—é’,—)c}"/.'v.‘).’u’-f:)ug.&jjg(f Sufest s (viii)
In order to measure voltage in a circuit voltmeter is always connected in parallel. Why?

10  Write short answers to any FIVE parts. -"Jauz/“:‘é.tz 'éga,(jf
Define pitch and quality of sound. _éb@fd/&lﬁ:@g(}bl’ (i)
Write two uses of ultrasound:, in the medical field. Ao Ut-:"l»ufﬂ;fgﬁfyé:ﬁiwﬂf (ii)
Sounds of how much frequency, a normal human ear can hear? ?‘al:c' ‘3\/&0";520;() K&Ulﬁ";ﬁ (iii)
State Coulomb's Law. Also write its mathematical form. _égf é{ﬁ/ JJlﬁ__éuguiFK.,-/f (iv)
Define electric field and electric field intensity. -..i.: '--é.‘/7 J L.f%i?uf}gmli?.f}?l v)
Differentiate between information technology and telecommunicgigmaﬁxo ;é WA u%%_f@,u}u?u"uw (vi)
How does fax machine work? sx\? <~ fe d/r Kd,/ UL J'G (vii)

%gg @ ‘-'{—J/;‘:(d: P I T '4\/313_‘4’ (viii)
In computer, what is the difference between primary nd secondary storage devices?

10  Write short answers to any FIVE part @ 9 ..:J.-.uz/"?é'lz 'é&c—(}f
State Hooke's Law and write its equation. & -g‘}:_./fobl/JJ lulg_f.: ¥ /‘TJuy’ G'ﬁ,u‘( @)
What are the necessary conditions ff\r o0 execute simple harmonic motion? ..gf;( ugm}d;,ﬁ({ J)’sz@d( (ii)
Define the term mechanical way€a rite its types. _é_/j}uufu lufgi: -y /‘.’.Jz': ﬁc (iii)
Differéntiate concave and lens by diagram. _é 6 IJJ/.%_»'J:(I)ZU‘J ﬂ.'gf-r)'CJl(o/ (iv)
How the reflection of light graphically verified? -é:(cz. ?c,udl_ﬁlf u}pj&ﬁ/ (v)
Distinguish between regular and irregular reflection. ‘-"LJ/'kfuf SE kG sslessGl (Vi)
Name the four uses of oscilloscope. -.f‘.i:{icf UWIJEL._;:CJI;I (vii)
Define the terms digital and analogue quantities. —_é-—{’ }Ju:;'ﬁ’ﬂwulﬁ 3 (viii)

- UZ/ 09 ZJlvz -é[;aglﬁéaﬂik»a.é:( g3 dilan
Part - I, Attempt any TWO questions. Each question carries 09 marks.

1+1+42 ?‘¢..3_U5K&/b}’g]{f/ﬁ‘fé@l&:aud}iﬂl} ?g,)'/g;:__..‘/'/ ]))
What is meant by electric current? Explain with the help of diagram that how battery is a current source?

05 2o 3L THLIINS 60-LI ot 26 e 525 TS 60- 2N 1hs ()

Cobalt-60 is radioactive element with half-life of 5.25 years. What fraction of the original sample
will be left after 26 years?

L+1+1+1 e bWl T o toafet Buslun et e 9T (L)

05

04

What is noise pollution? Explain its sources, effects. How is it reduced?
-fc;{r}h’J'ﬁ'JZy/.(gﬁ;Unéé/{éﬁGL 0.1m 2 & 0.8N g-jliJu:J:‘)"VAJ)LZ/_.l_D)?.J&d.?vgJ) (u)

The force of repulsion between two identical positive charges is 0.8N, when the charges are 0.1m

apart. Find the value of each charge.

| ol JoS s G AJE iy A Trys (L)
Define wave motion. Explain with example "waves as carriers of energy".
eSS Bito) W U Bica) I 16em #EF IS 2N gy g 26 L 1052 3040 ()
An object 30cm tall is located 10.5cm from a concave mirror with focal length 16cm. (a) Where is
the image located? (b) How is it high?
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s e LONL L\ L Jrpg§¥i -2 14 C B AN L]
wﬂwﬁmjucfmua&mua; i A 1 |

D VC B | A Questions j o =il A }
e v ‘ weads s/l g o gamladinte s 600 | |
doye | dnsle e ey L,r;f__rgfuru_f.}ﬁmw_b |
Willbezerp | Remainsthe | ... | Increases | Ifthe current in a wire which is placed perpendicular io a
e , _|magnetic field increases, the force on the wire:
153 131 123 17 et denmga) 2
| S , saver light bulb uses energy:
b4 Qv Q Ve : LJEJ&MMW 0’( 3
. v Capacittce is defined as: H
H p&n Afe | S r.'fg LJ';:M 4l r:iJl _ i S ‘k ‘ < i@?hﬁlﬁfgzﬁ}’uff 4
| Upright and Uprightand | Invertiedand | Tnverted and- %‘mhtma-f by & convex lens on a
iy Hagds wddn | gurl L J‘%@) e Jelnith| s
Waier waves | Radio waves Light waves | Sugind wavs ichG example of longitudinal waves?

Tﬂﬂw‘}‘%wﬂ“’dﬁh:-ﬂﬂ"dﬁfz: &

j@l:m.:l‘n characieristic of a wave is independ

A | wes | HER E

others?
Josor | eeizs cl 8.07 7
151
E.07 year 12.3 days 807 days\ i23years | Halflifeof .l is:
2 | 5 4 . 3 | Uu’i{fdﬂ-’ﬂu’ff O S| 8
' : ! | | Hiow many basic operations of digital electronics are? (.
| n_.Fz &t o (=$)iiy dnadd p el B s
Smaller | Megative | Positive | [Fthe object is on the right side nfltﬂs, then p is:
m!’uﬁ ;u%sr{é | At Lt S BNARL AL s G710
Mumber of umber of .
clec | Atomic number Amm mass , Isotopes are atoms of same element with different:
CRRER | B | A | K e S| n
| External mail | Exmjmﬂ mmmmﬂ&fﬁﬂﬂwmrnml What does the term e-mail stand for? | _|
A=landB=1|A=0and B=0{A=0andB=1|A=]andf=0 w*‘#J" Vg e dtd hacomm| 12
: _ | The output of & two i  inpat NOR gate is | when: ‘
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( rari-1 Uy ddas ) |
10 Write short answers to any FIVE parts. erPLanbie I 2
Define nestaring farce and write its formula, -uribnnE s A pi b )
Define the pitch of sound AR
Prove that:  v=TA wvafd 2k i)
For spherical misror, define radius of curvature and focal length. - 3 ASAEIEV L L Lo s ()
Define ol ivenl st EHAIS
Write the sudible sound frequency range. -£amj’u*£,-.fnﬂ.;m= (i
Deefine eleciremagnetic waves. #Jﬂgg _@g' }'ﬁl {waid
What is lens formals? Write it = Tq.'srﬂr‘;iﬁ’ (vii)
10 Write short answers to any FIVE parts. g A i =3
Define electric current. Write its SI unit also, Al SR -é-?flﬁ:éf..fﬁ?a 0

-2 bl te T AR S 2T s )
How the potenitial difference scross & circuil component i measured? Draw it diapram.

Wl sdeZ Lale s;.#f.f | Fé' 3 AT B i)

Define the torm kibowatt-hour. How muach Joules are in one kilowatt-how? v
Ed ; s :"~~"i ﬁ!f’fﬁfﬁbﬁ.&f fiv)
State the rule 1o find the direction of magnetic field around the current i SR
L g e o)

im orvsmaal imudaction let the carenl in first ool becomes steady.
W the nasmes of Tour logic gates.

(v}

s - -ﬁftﬁﬁiﬁﬁp {vi)
SNt ._.-*mﬁ,n g2y L Ews” il
4 k,‘E

Which logic gate is also called inverter? Draw its symbol ghso.
Dieww the eircsit iagram of AND-gate. i A &b/l L AND i)
10 Write short answers o any FIVE par{iha ez A i-r_&f -4

How a capacitor stores 3 charge? il )~ ti_mmi E-,u!-.‘ y-" i
State Coulomb's baw and write formuls for fifding force. agufgﬁfe;.,{ﬂ#‘h&hg,{ uguirf,# (i)
What is the difference between das s indorisals fe JAEERE (v
What is meznt by software? Te e et (v)
How light signals are sent through optical liber? t L L ABVFLR i)
What is meant by unsiable muclei? "‘{_;_'ﬂf;- JL&;#E‘;& i)
Define nuclear fusion. 7 Ly Al A (il

A 09 Ly el e (g adan
P*-rt 11, Attempt any TWO questions. Each question carries 09 marks,

o4 J._.,IWMﬁLm q.-r.._rfhfﬂﬁfmﬂr‘ quﬁ’g{uﬂ ;‘.{4}\.@&@ () s

Define simple pendulum. Prove that motion of a simple pendulum is simple harmonic motion also

wrile down its period equation.
05 Ut .ﬁ’u;f Flestar Bl 0.06 g Ty APz grlov g (L)
A ca;mm- holds 0.06 Coulombs ni‘charg: w‘hm fully charged b)f a9 volt battery, Calculate
capacitance of the capacitor. ‘
o4 ol e p B 660 (0 s
Define electromagnetic induction and ex Iam with ﬂ&mwﬂ
03 :#rt 16em x’{!f I _Q_H{{J‘i B 10.5cm :.sza'f}h’ﬂ Iem »sff ()
sl e 6
An object is 30cm tall located 10.5cm from a concave mirror with focal length 16em:
(i) Where is image located?  (ii) How high is it?
04  Define radioisotopes and write its two uses. S fe il i v AR I T ()

05 tmMdiadltus SNl 1 5Ae N .»a-_lﬂw,.r‘jjﬁ..il)lﬁfpﬁ-f (o)

By applying a potential difference of 10V across a conductor, a current of 1.5A passes through it.
How much energy would be obtained from lhe current in 2 minutes?
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* borbib i oSl LML Sfomiiell -2/ 1

D C 7 n = A ) Questions / o=y JE#‘? |
BEL | aJWJﬂﬁmhé Hf"." 1

| The number of meutrons in Tritiem 'H z

: e

" ¢ | 3 : ?m.!n&uwwﬁi’f:ﬂmiisf TR

Dwring natural radjoactivity, how many types of
l’ildllﬁﬁ:l 5 _3 wmillud"

4 4 2 1 \

£ 1 i =0 uﬁuu%fy:’ﬂgﬁj 3
Hone of these | & 4 ope is ?;;!(-‘Ufﬂi; #T
i — tity of the isotope after 2 days?

S s o] 4

mp&ma components of Computer ]|

The n

h . "! ﬁmﬁm  System (CBIS) is:

| = | Ads | ¥ Lo G L] s
- lrowerioe Tranzistor | Amplifier ﬂﬁﬂ}%ﬁ{ O%NQT@{I‘{LIMEW called:
AR S P <
_ Amgere Vol Walr |51 unit of electric power is:
10 wéc | lg?@; 10-%c wdeMB| 7
| 7 One micro Coulomb is egual te: ‘ 1
NmiCc? NmC? Nm~2c? Nm-3C2 , s LV
: | 4 51 unit of Coulomb's eonstant k is: ‘ ‘
5 q 3 | 2 ’i@fﬁ‘&ﬁﬁj‘” 9
r N The types of spherical mimror are; 3 j
. ‘% m= %’ . A=CV n=l etnae 35| 10
; L ] 4 V| Refractive index is egual to: ' :
Cepnf Fivay FetpnstesT ﬁ%alﬁgﬁ.ﬂ FRI [ Juﬁiiwjﬁftﬁffﬂ_ﬂiu n
Will be Vill
i — ed | Wil remain half| Wlllw;lht The “::15 mg of Hh-mmgmm spring, when s
e | kbE | 2| & - o
| Second! | gencns ﬁ o bt 12
I Coulomb sm: Joule | Second Heriz The unit of time period is: ¥ m&ﬁg |
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(Part-1  Jjl4das)
10 Write shorl answers to any FIVE parts, -é'-a;wﬂélmﬁadf =, |

Define wave. LAl )
ﬁi"'ﬂdb = fldm -?c'éml dliz u‘f}fgﬂnafaﬁ’{ﬁ {iiy

A wave moves on a slinky with Frequency af 41z md wavelength of 0.4m. Find speed of wave.
Wiy longitudingl waves meve Fister than imnsverse waves In wslids? de;f."'u; ﬁ%{iﬁﬂhﬁmlgﬂsgﬂﬁa iy
E#}ﬂh_f il Srelee kil “ﬁ-{faﬁlﬂﬂ.ﬁt_i‘:ﬁ'ﬂhb {iw)

Wrise equation to find spoed of sound and also write ane fctor which affects speed of sound.

What is sound? Blow it is produced? fe kil 2l T lnl®il- W)
DaiTerentiale betwoen concave and conves mirror. "y ﬁiiafuiﬂgﬁ;ﬂf (¥l
Diefine angle of incidenc: and angle of refraction. L AT Feun A T i
Write sign conventions for lenses foe focal bength. 4-.&';4&;&:.@& ¥ i# wiiy
18 Write short answers to any FIVE paris. Mﬁimé =l 3

Why amemeler i conrectied i setied Is Mo curment in gircuil? ?;.rlghm{ ¥ e_-/‘f ,!l"*'-e'.i: Jj b,d’u!fuﬂ-{# 1]
Write mames of sources of e, L el i G
Wirile twa featunes of pasallel combination of resistors. “{%&yﬁu&f.ﬁ#ﬁ Er O 1]

Hlew MOH g2e & made?

fetlibed it (iv)
Draw the symbol dingram of OR gale and wrile its Boolean expressian, R, .a;l.;,_n,rv" PJUFLL{; P
Mz the truth table for MAND gae (vi)

Write twa wses of MR in medical field. Ry Mm ;,éﬂmgﬁy'ip [:ﬁsy

What was the work of ans Christian Osrsted asd Ampere in clpéforgc O
10 Write short answers to any FIVE paris. 74 i y -guw;ﬁnfﬂé :J.I{ =4
Deefine Coulomb's law and wrile ils equation. b Dl P ) T T .1.4"5') i
@ mm,r" Ls:f{l'ﬁ.ﬂf ;-jfwzfn.mr_:g); i)

Write the formila for the cquivakest capscpalys

Define Farsd, = AlLS Gy
Wirkte twa advantiges of ebectronic il 2 il 6 i)
What is the difference hmm‘i:i i oy on {sdﬁlﬁﬁu}* BLstgl  w)
Hiow are light signals sent 1hrough optical fibers? T e AL AVBTES vy
What is meant by background radiations? teiole AL LG (i)
What is meas by haf ife? Tetelfa Fi (vl

A 00 S e falinl e e df pyidias
Part - II, Atempt any TWO questions. Each question carries 09 marks. |
4 é;ﬂ.ﬂl.és ?E{J@fjlﬂjifm ,én-!’ﬁu'éiiﬂ () .5
Define loudness. On what factors does the loudness depends? Explain,
05 TJﬂWﬂJl_lﬁuJ bl et P patpl wFisove sty LwPinoviBap ey Lacd (L)

m charge of +2C is transferred from a point at potential 100 to a point at potential 50,
What would be the energy supplied by the charge?

04  What s transformer? Explain its working. f@.ﬁ_;hﬂ et Ibed e bl () 6

05 -gManaP i Eletyg bl 12eme eom wfﬁgmjw,uaw‘.;- ()

An object 4em high is prmd il ] dimnm of 12em from u convex lens of focal length Bem,
Calculate the position and size of image,

04 b U LG AL b e P e et Te e Mg () 7
What is meant by nuclear fission renction? With the help of equation explain about the energy
released in each Mission event,

05 Jiaa ) Fewdbusd ev AL gl tre 3 /a1 imE %0 A 6D (L)

Eebipaa el 20 i i g
Two resistances of 6k and | 2k are mnmctzd in parallel. A &V battery iz connected across its
ends. Find the values of following quantities:
(i} Equivalent resistance of paraliel combination (ii) Current passing through each of the resistance.

ET1 A4 TFiamsd AOioesss
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;‘fgﬁtﬁ;u.w[zw&..,m_-/m.—.¢u,;u,e£4.)&vzdurffqu’dw ~BELED i C B AN L s A
-b’xxﬁwu’iuﬂgﬁuu"d’d../.‘/ ¥ L&./‘;fuububc..f < 'J/

{ ’ I m e e
L D C [ B \ A Questlons / -:-Ub’ e
- - ; T e B T
L o % | % 64| adiPw, 1
l Vclo&n_gy_~ _w&'gje!fznglh | Frequency Energy {Waves transfer: | [
f . » NEXS i
33Ims~! 2ims! | 376ms! | 386ms™! . ) o o‘._—*—“v"f*"’é 0°C (mtrr| 2
S — —*“_'f_"—'_'__" iL_____ peed of sound in air at 0°C is: L -
| 2.5x108ms™! A 2.0x108ms~! | 2.3x108ms~! | 3.0x108ms-"! e JU/”LN‘ 3
| | - The speed ofhgmc(\\ter is approx:mate;ly IO
r ik AT { s % i, ‘e Sl (»Lo/’ ‘|
| Decibel Diopter Volt - Hertz  |The Sl ynitofpower of lensis: e
| 5 - !
LOIx1072F | 1x1079F Ix10-6F : O@ 4./.'/.4,;”/?&—_0; 5 |
e A S——— _/ ;5@ icro farad isequal to: + g
Ko ] L adwti = ! L,u'cc/.’.’b'gfﬂ»’g;urtéc_/iaé.) ’/ 6 |
% 4" r{d-‘{t.)/d’ C—d’f(f i
' _ : What happens to the e I:'/u/’lf/...«y&fu |
Cannot be Remains the
| Cedicted e Decreases intensity of brightness of the lamps connected in i
,p series as more and more lamps are added?
T I (SR A= e b i it ol 1ps ar R SIS
[ 1c ic ey Sl (._m{iu’u 7 i|
L , The SI unit of emf is: l |
| SIS e A eyl s 8
- - . L R
ey 1d LKl &l { &bl The step-up transformer: i
§ Has less turns in | has more turns in | Increases the Increases the !
i the secondary coil | the primary coil input voltage ‘ input current e B j
3 ' i = " — s e
| 5 4 3 | 2 -ednF o Ak o |
. ; - I Cathode-ray oscilloscope consists of _.parts. | |
‘[- ‘, 1 ' 5 ‘. - - ) 8 ‘]. i ‘,TJJL'L' axisilay ] '0 |
| A=1.B=l | A=0,B=0 | A=0,B=1 {fA=1.B=0 PSR T et g e G0 '
= . o L Theoutputofa two-input NOR 3ate is 'I' when: ; e
| - ] ‘
e g3 et . FE S/ fea ST ST i
From which we can get information almost about % *
Internet Computer Teacher Books everything:
;ﬁ_.a,:&d’;‘gld/\jf{ L.HJ&Z:/J Z_aiéu}‘lé/qﬁ : &:.uzu”f’:{c °¢V/C/b&5/’é'-u£fuf61f‘ 2
‘_(Ihemicq!wrggflion Burning of gases | Nuclear fusion | Nuclear fission Release of energy by the sun is due to: N
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( Part-1 J3 4das )
Write short answers to any FIVE parts, -Ja«“f/z"édi !étc_J/
"d’nb‘u&y PJ’A,&(L‘ﬁJ’/c..de/bG:dUJH;MnV/f (i)

If the length of a simple pendulum is doubled, what will be the change in its time period?

Define restoring force. -_é - /.‘L(L,G;’.E:;"-'/ (ii)
Define diffraction of waves. SIS i
What is meant by SONAR? ‘.‘.a;'/t_fc:..,tr (iv)
What is the difference between the loudness and the intensity of sound? ' ?A;J)yiﬁ;;o’;ufnuf 530 (v)
State Faraday's law of electromagnetic induction. -gfi: Jke 6 b’c}b 3'_){«-(’: }-‘?l (4,34/.: (vi)
What is meant by A.C. generator? ‘.’g. ,r/gfc;, /: Aide!  (vii)
Define the term mutual induction. -cf - /7‘51,‘»! v (viil)
Write short answers to any FIVE parts. -J..-UJ’/‘"L;II 'étcd/
What is the difference between principal focus and focal length? “c_V/UL"é‘Q K /;J{" (i)
What is the difference between converging lens and diverging lens? fe AL AL Adf i 25 i)
Write two uses of compound microscope. & Ub?”»(f.f:‘; ye L.Z'S{_,,_J’ (iii)
What is meant by procedures in (CBIS)? (c_./(.'a:;'/l’u'-‘-' (CBIS)  (iv)
What is computer? @ Y :f/{:c.[ (v)
What is the difference between magnetic disk and hard disk? O e J}Q/JJB/{.AJJF.@? (vi)
Define penetrating power. ﬁ} -é - -g/u;_::/uf (vii)

Deline nuclear fusion. @% K..a' /‘Lu),é,".{:c' (viii)
Write short answers to any FIVE parts. % = ulli/"z;l/létc_éf
[f'V = 50v and C = 100uF, then Q = ? ‘ Q=23 C=100uF 4 V=507 (i)
Write any two characteristics of parallel cofabisfatjd gpacitors -c‘:r/f.;«i:u"nu U’{U I lﬁ.-& //:_( (ii)
' LT L 8420 i)
Define electromotive force and write i y L& SIS ..—v/‘if 39, 0, (iv)
-SSR EHNTZ1000  (v)

‘t\

. . I e M A8 L E (ol s, (0L :
Write the importance of fuse in housé hold electric circuit. S s fa VYIRS p A A (i)
What is the difference between ADC and DAC? ‘.'_&‘/g:j.' DAC »f ADC  (vii)

L/ siva ot X=A . BJ=IL Ut (vii))
How can you compare the logic operation X = A . B with usual operation of multiplication?

A 09 Ly fe il et 3 @i dian

Part - II, Attempt any TWO questions. Each question carries 09 marks.
-é@@&ﬁﬂﬁ}:’ AN {1 u"*"ju‘/@/ ()
State the laws of reflection of light. Also explain the types of reflection.
- 7z 7 -5 “ f 7 | NP ] z N

ge=10ms? ¢ gm=ge/6 /1 s$n/ Sl sodhinn sdndQulyut e b2t altbhiznt ()
The time period of simple pendulum is 2s. What will be its length on the earth? What will be its
length on the moon if gm = ge/6 where ge =10ms=2 .
Describe briefly the hazards of household electricity. -5{_: yu,b‘“fu’;w& A / ()

-_égr,h”ﬂii’d/éj,lgﬁ -unééz{.l/{iﬁ 0.1m fzku?‘a.ju’p(d:d/ 0.8N uyz:é'/'.'/&;ra:'_{‘u (o)

The force of repulsion between two identical charges is 0.8N, when the charges are 0.1 m apart.
Find the value of each charge.

PR ?Vga'_/w@ﬁ? s pugg ok (L)
What are the three universal logic gates? Give their symbols.
b4 . “ N M e
s 3L LIS 26 ~ e JU5.25 500 S 60-2 A 1wt (&)
Cobalt-60 is a radioactive element with half-life of 5.25 years. What fraction of the original sample
will be left after 26 years?

513-X119-64000
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= BN IS L N erne S Esi L v Q6317 <L LD 11 C B ANZLL iy Ay
_(mf"w.,,wmﬁu: uz:‘d:’_./.g/‘:—rb’ (.A./Ju:/buth_J 2’;::/
D | C ' B A . Quesnons / ...«Uir 1 Vel
I ]
. { R -c—u:‘/ s L EAG b I 1
50 40 30 20 fThe temperatuie av H{dcmter ofthe suninnearly | |
| ! : {million Kelvin. ! :
j‘ | (‘u'._r»ud"gf_té‘ﬂﬂxu ,uzj 2 |
l 2 4 | 0 8 ' How many metal rods in dio station transmission ] ;
| — | -antenna are? :
i 1 R R
X=AB | xX-A | X=AB | X=A+B ‘ abdefy Tl (AND)| 3
L L - Equation of AND-e erauon is: o :
Fir | e A @ u*qi’dc_dm.;_d'/..f 55 cro| 4 |
Sodium ], Phosphorus Iron Zinc |T n of CRO consists of material called: E
o (i;g rg'e": | o 2: C: ; v‘: ’;cf: gy'/' s ;/ v % e ISl yIs S UK A s E
' conservation | conservation | conservation | con S Lenzi‘»l:\t Tﬁaﬁmamfestahon of the law of: l
Y 3 J;T‘.:L'@- STty &O C Lﬂu{ﬂ&/’ffa'dbé_J"-’/"/"’J/af':’g;f'u:/’g/h 6 1
Kilo watt hour | Mega watt hour | Watt Watt The electric meter mstalleq inour hquses measures fe (Gl |
L ' AN the consumption of electric energy in the units of: !
( | > &k ehiulw) R=PL el 7 |
| , _ A A =1me Mee A Uy |
: R=zp R=p ! R <p : R>p ol ‘. }
' { | f
] f | lfwe put - L =Im and A=Im? jp R= T then: j |
SR s—| e e TR SE—— — T — —
i/‘ > i A i - ]
A E il l J"C : Ve ‘-55/ { c_tr,slr‘u’wu 'LCQ. .d/' 8
Geometric | Magnetic E Electric Gravitational ! A strong field lies in Farady cage: :
| t = - - 2 1
| S " gt o ’.‘ S e QTALT Elendupdnatly ,;,,/& 9 |
: i Light rays are reflected in a plane mirror, causing us to |
( Erect % Inverted | Smaller Larger see image: ;
1 s a e, Yk I 3 b -
i gﬁ«f/‘-"dr‘ i U oavd u}g: ?c‘-t/rbf{dr"g/)/ﬂiu%' 10 |
| fowinemal | Diffraction | Refraction | Reflection | Optical fibers work on the principle of:
| " - A > % e ks
S S S LA e ASE A2 11
Chemical |  Thermal Mechanical Electrical | Which form of energy is sound?
=T S o e/ 73 wfugz_né_,’c.ué-’;g‘f‘,_-.uséé:yubgyus’pi 12
| | X The part of a wave, where the particles of medium are |
. Wavelength | Wavefront Trough Crest highest from the mean position is called: |

514-X119-50000
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(Part-1 Jil4daa )

Write short answers to any FIVE parts. -a‘r..-,yz/'—'t»fz’égc_df
Define longitudinal waves. -éq’_/f&g’s;fi:g‘ (i)

TS 1998 badehia i i

I the time period of simple pendulum is 1.99S, then find the frequency of the pendulum.

What is meant by transverse waves? ‘.'(‘_ )l/lfc_ },f:u/r;i/' (iii)
Detine the loudness of sound. -gji_gio/f';; Ug,(}'?l.w {iv)
What is meant by echo of sound? ‘< )'/gc.:{'d’fc}'l/ (v)
State Fleming's left hand rule. -éug.Jﬂb’i M}g( LE i
Define A.C. generator. -g_f.;y}"d}‘_)m.c:. (vii)
What do you mean by electromagnet? fe )’/l_fc. V,,d.;':/g (viii)
Write short answers to any FIVE parts. -é@!r‘.ﬂ/‘.?éll.].'étc.—él(
State laws of reflection of light. .._éul_f.uf':;L V}z_;w_w(;” (i)
Define total internal reflection. -é_@/‘.’-u(~ = Zvﬁv"‘j;’ (i)

e ETRU A (i)
¢ B e o "

LTzl (v
What do you mean by word processing? e tole _ﬁr’(i;: (v)

< v .
Write two advantages of ¢-mail. O@&% -é’-:_/ fll;’uﬁﬁdr (vi)

Write the names of isotopes of hydrogen. -é_f/?“t..f.uiﬁ:ﬁﬁueuif L(vid)
Who discovered radioactivity? %5@ ?JJ;’E/)LV(&):-(‘:{:J (viii)
Write short answers to any FIVE parts. -d_-,guz}?&fz 'é&c..‘j/
How can we identify conductor or insulator with the helpctroscom? ?Ugéﬁc_‘f ::;(jf.'r;i L ﬁ/ﬂuﬁ;u&f;ﬁ/’? L)

e e INEi26d (i)
e douigt w A0S i
; Se ORLSEAFL  (iv)

What is bronchoscope?

Enlist the components of computer based information system. -2.{/ 5/

What is the effect of distance ¢.1 Coulomb force?

Define fixed capacitor and give its exampl

What is the difference between cell a

Write the ST unit of potential differonte and define it. -_é_._'y/z:"di’.y‘{’ SI KJ’-,)'SVW{' (v)
% ! . % % A - ol » =
Difterentiate between direct current and alternating current. -"i_-'ugu/‘;_w .b?ﬂw..:}/..:é Ay (vi)

What is meant by fluorescent screen? ‘e s e o Fawth (vii)
- ULOAL (DAC) 25 Bt S JF 40 (ADC) 25 PR35 et (i
Dilterentiate between ADC (analogue to digital converter) and DAC (digital to analogue converier).
..u_?/'," 09 LJ';’; -é_{f&@'ﬁéamr’v; dy( 'P:'J" dias
Part - II, Attempt any TWO questions. Each question carries 09 marks.

Describe the nearsightedness and farsightedness of vision. &= ygd}&gﬁmd}f_/_ 2 ()
ML L b b6 1.5Km <)~ 35em #Fun 2KHz SH it (L)

A sound wave has a frequency of 2KHz and wavelength 35cm. How long will it take to travel 1.5Km?
('ujf_béJ)’AJ&’L&?)}:}i’é&b:;ﬁg{atlj'uﬁbma&f ()

Explain in detail any two safety measures that should be taken in connection with household circuit.

-éf}“‘@?g)_l_/»ﬁ?/gu‘-g_o.ﬁm LGl 1% 2l 9322 100uC s 500uClind Zie ety (L)
Two bodies are oppositely charged with S00uC and 100uC charge. Find the force between the two

charges if the distance between them in air is 0.5m.
-g{dkﬂ&ufdﬁ;g'LﬂgfﬁA/fffﬁ' ()
Considering oscilloscope, describe the working of the electron gun with control grid.
- PSS I ot £ CAS IS A Y L L s ST (L)
The activity of a sample of radioactive bismuth decreases to one-eight of its original activity in 15
days. Calculate the half-life of the sample.

514-X119-50000
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9 7

T S .4_‘I_A—- - pe—— " i l: H’
D C B A Questions / = Ul S
Py N 0 LAMSEALEL v grl 12v] 1

60W 30W 14.5W W | What is the power rating Sttt 25A !
AT S L _;9fa lamp connected to a 12V source when it carries 2.5A ? N _j
ot 1 ; » [ ¥ : o S "
| & a4 g L L d sede tUipenz| 2 |
_Voltage Power Energy Charge Transformer is used to change the value of: l
hocsa SR -

4 . 3 ; 2 5 %Jﬁu%u#;;}c)&)'&/b;{ K

e pii | The cathode-ray o@oscope consists of the components; | ;
s v | 5 < 3 P |
- A 2 £y o€ i e | 6 |
__(iq;xtmi unit CPU_“ Memory . Monitor The b;a;ﬁ\\x n vcomputer - system is: .4 ]
i - g i fesel T on Gl 5 |
- : | Cone byte is equal to bits. N
7 o gty & ; bt o HE . g
Cionfoll | by by 0508 | Ko é(i) | T A0 et (e
] What happens to the atomic number of an element which |
Decreases by | | Decreases by 2 | Stays the same |_[fforsases by ! |emits one alpha particie? |
? 1 - "
1956 (1756 d@ /1856 OSSR gt |
L When did Christian Huygens invent the pendulum clock? .
= —1 S 4
PN N N o, e ¢4 |
o | 1290 2000 | 3980 AENIERERE ST 250 | g
e e A e ] | The speed of soufid-in wdod at 25°C in meter per second is:
T N % mo 1 T
1.36 131§ 23 2.42 \‘.;w’/ T ITA SIS 54| o
- _ The indeX 'ﬁ%@f_@ition of ethyl alcohol is: i
SN ; g - !
: 5. Sl ~ety g beb 14cm c,uL,/u-‘/ﬂg 10
-4.icm -8.2cm -9.9¢cm -20cm An objeet is 14cm in front of ?4‘:_, gﬁg‘f}bﬂ/ _4_(:({ : .I
; a convex mirror. The image is 5.8cm behind the mirror. |
- ooty . What is the focal length of the mirror? .
" - .k |
VRQ Qv Qv vC : e LA ST u‘/ 1t 1
| Capacitance is defined as: } ) 1:
A | manee wrals | . . AP ] "
U 2S5y ri%e Ty e LS 20U 1 |
Free clcctmns_ L Posi_iive charges | Negative ions | Positive jons An electric current in conductors is due to the flow of: |
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D C B A Questions / o Ul e
c.._ﬂw,é\fng z,/‘ ¢ J.({.géc_i,z‘-_wré 12v| 1 |
W oW bl 48W | What is the power ?n[,).v/.ff 25A :
S—_— of a lamp conn 12V source when it carries 2.5A 7 | |
| & ! 97 i L ﬁ} g_ Ll ey, ;_rwfdw-l//w e
| Voltage Power Energy Charge Tran@‘o%r used to change t the value off =~ ‘
L i i
| N cathode~ray oscllloscope consists of the componcnls | :

e v ot

|

| V 0 ['

| C/ b s s
Control unit CPU Memory /L(\ . :

_CPU The brain of any computer system is:

hyy E ok
10 8 l 4 v‘¢4|/_£.-.‘¢;£._';|'m+' 5 |
‘ Une byte is equal to bits. - i

Citnffl | Citonfn @XJ)&I | Cibonl | ey iy AL e:&w?:‘_.r/@w;‘égwugﬁlvgﬁai

6 |
What happens to the atomic number of an element which - {
Decreases by 1 | Decreases by 2 | Stays the same | Increases by 1 | emits one alpha particle? |
1956 1756 ¢1656 ¢ 1856 ""r"’:’*’(—r“ﬁ a4k ‘-U; b s ! l
. When did Christian pr ns invent the pendulum clock? N
AN P .
972 1290 2000 3980 Pos: “‘;wf*‘ 8Ty 2500 8 |
The speed of so mhnw‘bod at 25°C in meter per second is: | i}
E oo ton o o - " \,4' :
1.36 .31 221 2.42 \¢ ATt S ’

The mdé"hfre@hmn of ethyl alcohol is: |

LA ety b8 1em AWy L ST

|
| -d.lem -8.2cm -9.9cm -20cm An obje -IS l4cm in front of "c..b(p‘;{f;’b’/ -C—&f/ . %
a convex mirror. The image is 5. 8cm behind the mirror. ‘ |
i » = What is the focal length of the mirror? I
|
VIQ QV Qv e c-de C)Uf-ﬂ/“&f' g¥F | 1 |
) Capacitance is defined as: St e |
P Zslphedy FTE Flei eSS LS PO 12

L

| Free electrons | Positive charges | Negative ions l Positive ions | An electric current in conductors is due to the flow of:
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( Part-1 Jdy4aa )
-y
Write short answers to any FIVE parts, -.’J.:«pz/"'z.’.,nz lékclj:(
g=10ms™® 2. 1 om S et s ledhin G

Find time period of a simpie pendulum of 1.0m long where g = 10ms™2 .

Define longitudinal waves. _gj':/.éf /‘."JJ;{:J 5;}‘6 (ii)
Define pitch. On what factor it depends? ?q_tn{fu";bﬁb’gff -5‘_{.4//‘-‘[;6: (iii)
Define intensity, What is its SI unit? fe Uiy STE -g‘:qf.‘i}/df{l {iv)
Define uitrasound. Y YA (v)
Define electric current. Write its unit. ~& LA ?‘gﬂ/gfa,.»f‘fJ}?t (vi)
Deliae Ohm.

g AEs (i)
-grévg;lﬁut/ K da /‘-fyib’}u{wﬁ (viii)

I['the diameter of a copper wire is 2 millimeter, then find its Cross sectional area.

Write short answers to any FIVE parts, ..2:4&/‘-:’2:"7.. lé&:-(jf
State laws of reflection of light. -g;"ugg:'v}'& u’gj(f(ﬁ/ (i)
What is meant by farsightedncss? ‘.‘c‘_J!/L_fc.,d }'&_f" (i1)
Define electrostatic induction. ~E SN i
State Coulomb's law. __éuwiGKJI (iv)

What is mica capacitor? @Q ?6- t:f /':#,{)"/,4 (v)
What is meant by compact disk? e ?‘a:l/l,fg..._CS _*,-E./ (vi)
Define word processing. 0%{& -“é i/ /."J.f»:‘:{.‘w (vii)
@ ’ - A (il

Write short answers to any FIVE parts. -éc,tbzﬁ'fé,tz lgtadf

P> ' ;

Describe the working principle of a DC motor. @ ey ugdﬂ!KL/?’ 6L 55 ()
Stile Lenz's law, ) _é— g8 b"/l’ (i)
) SeolUe AG2F (i)

‘e In e L W9 Gy

Define hardware,

Whal is meant by thermionic emission?

How are the electron deflected by ele

NAND gate is reciprocal of AN < Discuss briefly. *5‘::‘_-»&;?/‘? -q.._‘.)l(.:./figl i (v)
What Is meant Iby nuclear transmutation, ‘.’c‘:_)l/y/c,ff;ﬂf.'lj ¢ (vi)
Describe two properties of gamma radiations. -gf;ruga_lfor‘%;gf /'-L_i_/bf {vii)
Write three isotopes of hydrogen. _g_fgfﬁﬁﬂlfwfé:cﬂuiﬂ (viii)

..u.?/,‘; 09 vz -é{faglﬁéaﬂfr»aéi/ plgd didas

Part - Il, Attempt any TWO questions. Each question carries 09 marks.

-é@b}Jﬁ}/(ﬁ{}J&&L};JﬁiJ ?./‘"_)V"Lfcr....@;iz (D
What is meant by ripple tank? Explain refraction of water waves with the help of ripple tank.
wgfirﬁi’”‘;/'te/:lu?}gu(@"l -;.JZ{.PUcCZOcmc_ c‘¢15cmE@J}Jgﬂ)¥_"Ll()cmd{_’{':f&ﬁ()bg ()
An object 10cm high is placed at a distance of 20em from a concave lens of focal length 15cm.
Caiculate the position and size of the image.

- UL b L o e s F iy ()

Describe four safety measures that should be taken in connection with the house hold circuit. -
Sedint ceitne 8 12v B 1l o 60F o 1F A L s )
A By Lo Y

Twe capacitors of capacitances 6uF and 12pF are connected in series with 12V battery. Find the
squivalent capacitance of the combination. Also find the charge and potential difference across
each capacitor.

Differentiate between magnetic disc and hard disc. -g{,{f&/‘gﬂ -..CS}J{,JJIJSV@:’ (N
Write five hazards of radiations. ,.g’_{;/_».l/h?é_t. L8 (L)
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Write short answers to any FIVE parts.

Find time period

() freslz .

by (dtfﬁw)gf?

o-1% 48 AF 50145
(Part-1  Jjladaa) :

; L 26 8 2

B=10ms Ge 1om QS Z L alethind

of a simple pendulum of 1.0m long where g= 10ms™2.

Define longitudinal waves. - /UJ._{;J&‘:@ (i)
Define pitch. On what factor it depends? ety JUN L3 ASE i)
Define intensity. What is its SI unit? ‘-"alf&g SI ¥ -é: _g/‘U 6:"""' (iv)
Define ultrasound. -_éuy/U}ﬂ/lﬂl V)
Define electric current. Write its unit, - <6 S‘q.ﬂ/l[;..‘:‘/f}'?' (vi)
Define Ohm.

-~ (vii)
-gir}"g_/ld"-;wfs’w?x%&z RSl (i)

If the diameter of a copper wire is 2 millimeter, then find its cross sectional area,

Write short answers to any FIVE parts. -'J.:.ym}?&.'ztégc_éf -3
State laws of reflection of light. -g{ u_l,.uz." I}Z‘-)’- ;J(,'Cu (i)
What is meant by farsightedness? ‘-'g.:l/gc_d }"Jg‘ (ii)

State Coulomb's law.

~E I ()

Define electrostatic induction, @@ Ay Jﬂlu@")f‘g I (i)

What is mica capacitor?

Define word processing.

‘-’,Gk()':'{}/.' V)

<&
Whai is meant by compact disk? 0@&% Sestpe L3 -b‘.;%/ (vi)

Define hardware.

Sy /‘U\v&_"’{)‘” (vii)

%b@ : -3 ST (i)
oy
Write short answers to any FIVE parts. @ -l :.«LUZ/““Z;I?. lélc.éf <4

Describe the working principle of a DC motor

State Lenz's law,

What is meant by thermionic emissi
How are the electron deflected

v

K SIS ()
-E LA (i)

el A2 i)
Ritlez ‘e Ind o Oh P8 L 08 o

NAND gate is reciprocal of AND gate. Discuss briefly. -g—.’_-,»uﬂ/ﬁ _+&IK¢! 2 c/f & (Vi
What is meant by nuclear transmutation. ‘.‘9.»/5&;, U%:L’UJ l/‘/”fé (vi)
Describe two properties of gamma radiations. .g;r uk&&l}";}J /‘-’@ A (vii) ~
Write three isotopes of hydrogen. -é{i£i/17‘f'£¢fu}f{. (viii)

..uf/,‘; 09 LJly -é{f;uﬁéaufn)a.(j/ a9 dias

Part - TI, Attempt any TWO questions. Each question carries 09 marks.

What is meant

-g{au,d'uifjj‘,@z,d’&gc_u‘f,@@/ Y.;_;l/y/c_..@gb (W s

by ripple tank? Explain refraction of water waves with the help of ripple tank.

..éph’c/i/‘:ulu?]{fgf@ -4.1‘44)/5520cmc:_ ««-15cm E@JIJU)/{{O;. lOchb":lJ‘ﬁf)‘-Q (L)
An object 10cm high is placed at a distance of 20em from a concave lens of focal lengtB 15cm.
Calculate the position and size of the image.

-ugz.‘gij}&‘_;:&"é_*f/,&/ﬁg,{ug:,ujsJ""tb/g (N -6

Describe four safety measures that should be taken in connection with the house hold circuit.

Szt ce Vitze §58 12v <& F1 el - 6uF il 12¢F W}‘LJ’Q’{{ 75 s ()

SRV SI gy o

Two capacitors of capacitances 6uF and 12pF are connected in series with 12V battery. Find the
equivalent capacitance of the combination. Also find the charge and potential difference across

each capacitor.

Differentiate between magnetic disc and hard disc. -é{/’a}u: L L{,J;LC} __@f* (N N7
Write five hazards of radiations. _é{.,//.:«w&g LAk (L)

513-X118-62000
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Objective Paper

/}}\-..-A/ Code
iy 12 AF 22415 1y 7476
r’ L]
D LA 7 5k Y bl L?_.rwc..ufu:/bd:c_Jd.L«Cdff//Qb’dL? S ED s C B AN L g | 21
I
o —(ﬂ/’jﬁbu’fuf ;ﬂu/fJé.Mub’LL.fJu:ﬂmhc.J ’é’/ 1
e e T = Emomcnas = S
! i) : __C B A | Questlons / uUfr' /&3/." j
i i i
| 5 | g 3 5 eIkt (GH) @ &N
; ) - §The number of neutrons in tritium ( 1H ) is: | B
876 L1886 870 | L1867 e AL el S 2
| : When did Grahan)wB'éi\make a simple telephone?
T EEE T i - ] < =
I;Ix:c_u‘:cai_mml I Electronic mail | Emergency mail Extra mail E-mail isthes reviation of*
: T A ' ’ . ]
é 6 | 4 3 2 Oév\{?\v\ e [.u:ﬁ%!g_u/ 4
! ~ . i \I/’k@ omponents of cathode ray oscnlloscope are: s
Ty il GEE m@;@\ﬁ o Lol p Il brodbisn] s
- : ' Temporary magnet which cause to flow current : Q
. Electromagnet : Magnct Flecmc intensity | i Z\(/{ag i &..ﬂgld through a coil is: i :
‘ 5 y TN AL S ol G
ols (331 i :4"__‘/‘.3{ Sl ifu‘wa 6 !
Wau ; Ohm 3
o i - ey S i
Pascll Farad Voit | Ampere | SIunit of potential dilerence is: B § X
9. 3 "2! 8 7 o 3 2. 9. 2.9 JIJJ k u‘-'(UrJ S Jn ’.n[IML}V/)Li/‘o}}/”; 8 .
PN T 9x10°Nm-C ™ | 9x 10 SNm2C | Ix107"NMC™ | If the medium between two charges is air, then the | i
ETTTI W ! value of k will be: B i
| ; S x| '
L3 <l08ms : [ 3x10~8ms™! 2x10 ¥ ms ™! ! 2><I()8ms"l . o - Rl "'(‘f”‘f ' ‘
[ T'he speed of light in glass is: | L
L. i 3 - i |
e L 495° 1 488° e &1 bl
' ! The critical angle of water is: z
] ot - ‘ = , o
| 3%6ms™! | 327ms! 346ms™l 1 331ms! ‘—J”JWJJ" $0 C L
L i o The speed of sound in air at 0°C is: 4
: : ! |
x = —Fk . - Fs e I P | 12
S ~ ‘ ~ The formula of Hooke's [aw is: i
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M\Vv 12 4F 22415 1y 7476

LA \F-r\QFsh(_.wr\\..thC..\_‘.mhAlﬁThL.\\\&v\&..w -S&ép sC B .>(«¢.\S.~hc.\\ \.C_\
uﬂacuhrc{pw.\un.h(\\.ﬁ?\\b\r\cx T!\‘\‘Q\Cu\.»:rup(m\ <&/

— T 1 . %]

D C B A _ Questions / = Uiy e
{ _

y | g 3 5 “ Pb‘ﬁ’\ﬁ\u\h%AuIVﬂ\w “ 1

7\ | The number of neutrons in tritium ( uI ) is: m _

(&4 3

1876 /1886 /&w@/ /1867 A LSS L2

O When did Graham Bell make a simple telephone? |

JRA L Feg | RSO T Hpd FL&&\% 3|

Electrical mail | Electronic mail | Emergency § Extramail  |E-mail is the abbreviation of: |

6 4 3 N§ 2 Q&&h(»ﬁuf._rt\\ 4 _
|
|

The components of cathode ray Omn:_omno_ua are: |
ey el FE e ol Lo/t frasb®nl s

_ Temporary magnet which cause to flow current _ x,\.w

Electromagnet Magnet Electric intensity | _ Magni through a coil is: ” !

. _ 0

ox ' = | m\w Qw Ay ey SI .«c\..\\.\_ 6 |

L Watt Ohm Volt m Farad™ ..A;m % |
Ln\._" m\.. s A

P(m. | «c»\é\u._ 7

_

3§ K &_\E SI 7 5\ brdend 20| I8
If 9o medium between two charges is air, then Eo i !

Pascal [Farad Volt " Ampere
. .

9x10'Nm2C2] 9x108Nm2C2 | 9x10~8Nm2C=2| 9x10-ONm2C-2

value of k will be: _

.\ s o &2

3x108ms™! | 3x1078ms™! 2x10 8ms™! 2x10%ms™! T ; A Q\C\t s 9 !
The speed of light in glass is: {

i m

60| ase 49.5° 48.8° by & 10
The critical angle of water is: J

386ms™ | 327ms! | 346ms”! Bims | ety oon n

| The speed of sound in air at 0°C is: |

x = -Fk _»H'X.. F = —kx F = kx P:V\\Gqc‘teh(ﬁ_ 12 m
. . F ' The formula of Hooke's law is: _ ]
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Write short answers o any FIVE parts. -é.:,uz/'"‘&!z légc..df
Define refraction of waves.- -é -f.’/:; JJ’;{}/J){: (i)

What is meant by simple pendulum?

?c‘_)yk(c,ﬁji_};ulr (ii)
What is meant by ccho of sound?

S £330 i)

Define acoustics? -5‘,{:‘ S JLL«G(}:‘ (iv)
What is meant by quality of sound? fo ,r/t_,C; L;J lfd/}i:f (v)
Define Ohinic and non-Ohmic malerials. -é&ﬂ%ﬁﬁﬂutmdﬁﬂ (vi)
2 2
Prove that: P = «‘i—{—- P= —\:{— '-_,éc.«t‘ (vii)
Define conventional current. -__d_{ - /U..‘// J'*ﬁ)f (viii)
Write short answers to any FIVE parts. -daywﬁé'lzléta.éf
Wlhat is meant by principal focus of a convex lens and a concave lens? ?g)l/g.:. u/ idf{& /3 zq,fﬁ = (i)
What is the difference between real and virtual image? 94,&)&@?»& 6 !J;?_,/w’d—;/ (ii)

TJ)‘:’.JEQ‘)/)’Q(J/ -4".(?4 Sem é&//élJf)’u{Jsz_'{{ 10cm é:.L/LJ/ﬁif (iii)

An object 10em in front of a convex mirror forms an image Scin bekind the mirror. What is the focal length of the mirror?

Define potential difference and its unit. __é’.Q/U&g&Jl;:lu‘;/‘;‘J#% (iv)
What is gold icaf electroscope? Tt g;%}gb_é{ﬁf v)
What is the difference between data and information? e J)l;ﬁﬂﬁ(ib;'t‘;} (vi)

What is the difference between hardware and software? Q ‘.;.J/'tfuﬁ’ j::_‘)'tmlﬁ:b[. (vii)
How light signals are sent through optical fibers? O@ ?ugﬁéa}_;jﬁjﬁ’ﬁﬁffﬁdﬂ (viii)
Write short answers to any FIVE parts. o {\Q? -é'e.yw"‘é.rmég‘:.éf
What is the role of relay in a circuit? @% < b S VY L ot _‘.«r/&’ i)

% ‘e Qe P AW GBI Sl H s iy
5@ grip rule?

~E L e SIL Pt it G

E AP S )

—s-‘.f:./f()’"';":/'b’ﬁf q W

~SE A iy

-y Ay, (i

_ -éuk.ﬁ’;‘?h%(ﬂf:_ubs‘c-'};{‘buﬂgfildé/ (viii)

What are two common hazards of radiation? Briefly describe the precautions there arc taken against them.

..u;?/ 09 Ldir/: ..é_/fi:‘,b?&;ﬂlm)a(jf a9l dian,

Part - 11, Attempt any TWO questicns. Each question carries 09 marks.

mg—""tf/}&’@m@/g(’EJ&&%AEJ‘”&&&; -é{ﬁf@bl«ﬂ&}%kﬂéi@uﬂo’z{/’ ‘é—;’&:‘.; ()

Derive a relationship between velocity, frequency and wavelength of a wave. Write a formula
relating velocity of a wave to its time period and wavelength.

?xg)‘b@:ld}:tf:Jc.ofRJf)‘/:‘szthgbC/ﬁ52:1(()'4,/"1' ~¢. 5D uLJ/.’Jg/_,Q ()

iHow direction of magnetic ficld is measured by the ri

Write any two compouents of cathode ray oscillosée

Peline analogue clectronics,

Write ruth table of OR operation.
Define nuclear fusion,

Define haif-life.

*
The power of a convex lens is 5D. At what distance the object should be placed from the lens so
ihat its real and two times larger image is formed?

-E kb e B P (L)
Discuss the main features of parallel combination of resistors.
r}**:.‘EJw}quz)gut _ugd"_/()’:c,a;"gf 0.IN fz.../uugu?uxc.Z{éiBL Sem ?»%Zzl’n) (-‘.:)
' -Uyré’fé;{alié 2em Nh:»’.né

Two charges repel each other at a force of 0.1 N when they are Scm apart. Find the force between

the same charges when they are 2cm apart. "
N M Y S N

Explain the phenomena of transmission of electrical signals through wires.
29.2 LAY N Woutend L250£290 K28 L 2 2 - 273 SIS N (L)

22NN (PN a) 3
The hal{-life of ’.GIN 18 7.3s. A sample of this nuclide of nitrogen is observed for 29.2s. Calculate
the fraction of the original radioactive isotope remaining after this time.
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Write short answers (o any FIVE parts. -a‘f.-.m,ﬂ&mégc,df

- |

Define refraction of waves. -5",:( _é_l;kfd"{)z;(}g: (i)
What is meant by simple pendulum? ‘-'c".;l/_lfc,‘):ﬁfguv (ii)
What is meant by echo of sound? ?4"..)’/!{;1( % (iii)
Define acoustics? -égqfvdllff&f (iv)
What is meant by quality of sound? Sl Ve Wit (v)
Define Ohmic and non-Ohmic materials. -._:‘,{ _y/U * Af’uaulutul..i;u‘ (vi)
Prove that: P= ~‘§- = sz ‘SEet (vii)
Define conventional current. _5‘,{ ;_g/‘U._‘z/ﬁf (viii) .
Write short answers to any FIVE parts. -a’gwﬂﬁ'm&;é{ =3
What is meant by principal focus of a convex lens and a concave lens? ‘.‘q.:l/Lfc.J( idf%ﬁ A zajﬂﬂ‘fg:f (i)
What is the difference between real and virtual image? ?laJ)l_fuyué 6 lgfg/m'gﬁ/ (ii)

‘-'Jn-bri‘@;f}&/ -;.G;'{ Sem é&z/é 'J(’-.pz_x;:;{ 10cm é:.tré//;f-(i( ()N
An object 10cm in front of a convex mirror forms an image Scm belind the mirror. What is the focal length of the mirror?
Define potential difference and its unit. -g{-&ft{&;’&d’»'gﬂ)}g}’% (iv)
What is gold leaf electroscope? e l;@.:cyf'gh.ijﬂf )
What is the difference between data and information? ' S OIS (vi)
What is the difference between hardware and software? Q@ %.J}gu.‘.' k.:.:)lmlﬁﬁ/} (vii)
How light signals are sent through optical fibers? @ S L TR Ly (viii) (v
Write short answers to any FIVE parts. & -égw;ﬂ&tzvﬁ'g:.:}f -4

What is the role of relay in a circuit? O@&% ?‘grmbf t[( L oS, /U'( (i)

Qe Al GO L UL A Gy
How direction of magnetic ficld is measured e yight hand grip rule?

Write any two components of cathode ray 42 Hoscope. -éﬁt&uﬂ);éfégrﬁkﬂgﬁﬂ (iii)
Define analogue clectronics. -55 -/ /‘U‘/‘:ﬁ'\jﬂbj (iv)
Write truth table of OR operati -égﬂ’;})(ﬁ47 V)
Define nuclear fusion. -g£ _g/UuﬁziﬁS: (vi)

Define half-life,

-E e al i oSS datBrenLl Sk, (i)
What are two conimon hazards of radiation? Briefly describe the precautions there are taken against them.

Ui 09 Ly ezl e yne. S «pdgd dias
Part - II, Attempt any TWO questicns. Each question carries 09 marks.

-Kggfifi@mléﬁf' t‘(ﬂgfg U}"JGJ‘;} éi{&f; -g‘_;/lil.:.bb‘g(y u,l_/uﬁig_’uﬂ(f.' ;{/ «é{g&’) ()
Derive a relationship between velocity, frequency and wavelength of a wave. Write a formula
relating velocity of a wave to its time period and wavelength.

A L o P A AR ARRT L -« SD s SAAI L (L)
The power of a convex lens is 5D. At what distance the object should be placed from the lens so
that its real and two times larger image is formed?

Sk e B SN (D)

Discuss the main features of parallel combination of resistors.
r}".-.éJw}quz;tgul -ugL/dJc.,a}J 0.IN !L/».ﬂu]uxgz{aﬁﬁkm ..».2/(:» (..,)
-uniégkﬁ& 2cm ”‘:"}'é

Two charges repel each other at a force of 0.1N when they are Scm apart. Find the force between

the same charges when they are 2cm apart. 2
-éyU:JJ‘ZJ*J)wﬂf'.G@_/}ZJﬂJ ()

Explain the phenomena of transmission of electrical signals through wires.
292 KIS N LSl L5229 CEBRUIL Poft - 213 SIS N (L)

7R RN (PPY )
The half-life of ‘.6,N is 7.3s. A sample of this nuclide of nitrogen is observed for 29.2s. Calculate
the fraction of the original radioactive isotope remaining after this time.
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